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a) B#y = f(x) DEERBZTRHE.
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b) FRAE y = f71(x) ERHL.

o) ¥B¥ y = f(x) DEEEAERE.

d) y = f(x), y =7 (x) DEEiEZNZNRH L.

TORDITSDE, By = f(x) DISTTHD. ZOREH y = 1 (x) DTS, y = f(x)
| BELIEDTH. vy = f(x) DTS IETFORICES
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f(x) = —V/=3x + 6 T 3.
a) B#y = f(x) DEEGEEEYERE.

b) BRI y = [~ (x) EBRHE.

o y=f"Hx) DEEZJLBEHZRE.

d) y=f(x) DISDIEEBH y = [ (x) DTS D=

\
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f(x) =log,(x +2) &ETD. f(x)=x3-2&T92.
a) ¥y = f(x) DEEFZRE. a) ¥y = f(x) DEER, BEZKHLK.

b) R y = f~1(x) ZRHEL.
b) HEIH y = [~ (x) EBRHE.

0 y=f"(x) OEEEAERE.

o y=f"lx) DEED, EEERDSE.
d) y = f(x), y =7 (x) DEEiEZNZNRH K.

e) y= f(x) DISTEHREH y = 1 (x) DTS I%EHET. d) y=fx) DISTEEEH y = [ (x) DTS T7ZHIT.
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